1z kr en s s 0 d bal s ton o 1S @®m
Jason: is scrambled sentence sentence sentence This scrambled scrambled scrambled sentence a This scrambled
Mario: IS9 €n S bal | kr | S 0 . ton &m d
is sentence This a sentence sentence scrambled serambled scrambled This sentence scrambled scrambled

Jason: ton 0dis kr 91z €n bal &m ds s s
“ sentence This scrambled a is sentence scrambled scrambled scrambled sentence sentence scrambled
bal ton s 2s diz en £m IS s 0 kr

Mario: . . ) ‘
scrambled sentence sentence a scrambled scrambled is sentence scrambled This sentence This serambled

Jason: s 0 tons IS S bal &m d kr 1Z 9
" senience sentence This sentence This scrambled scrambled scrambled scrambled serambled is a
&m sen o skr 1z s O bal IS tan d

Mario: . . .
scrambled sentence a scrambled is sentence This scrambled This sentence scrambled

0 1z d S IS S bal &m ton S 2 en

Jason: .. .
serambled This is scrambled sentence This scrambled scrambled scrambled sentence sentence a sentence
bal IS €n 9 skr S 1z S do ton &m :

Mario: . . .
scrambled This sentence a scrambled sentence is sentence scrambled This sentence scrambled

Jason: s 1z IS &m kr €n bal s 3 d ton s
" This sentence is This scrambled serambled sentence scrambled scrambled a scrambled sentence sentence
IS bal o skr S 0 1z &m d tons

Mario: . . . ..
sentence This scrambled a scrambled sentence This is scrambled scrambled sentence

Jason: 0. S 1z 1S9 kr S bal sen &m ton d
This sentence is This a scrambled scrambled scrambled sentence scrambled sentence scrambled
Mario: bal 188 o slarem Iz d en 0 ‘ tans
scrambled This sentence a scrambled is scrambied sentence This sentence
Jason: O S fz ds kr S bal en &m 2 ton IS
This sentence is scrambled sentence scrambled scrambled scrambled sentence scrambled a sentence This
Mario: O1s bal o skrem en dizs _ tons
This scrambled a scrambled sentence scrambled is sentence sentence
Jason: 0 s 1z S 1s kr | £n bal s &m d ton o
This sentence is sentence This scrambled sentence scrambled scrambled scrambled scrambled sentence a
Mario: o1s bal o skrem £n ds Iz tons
This scrambled a scrambled sentence scrambled sentence is sentence
Jason: 0 o1z s skr £n bal s | d 15 ton &m
This a is sentence scrambled sentence scrambled sentence scrambled This sentence scrambled
Mario: d1s bal o skrem en ds Iz tons
This scrambled a scrambled sentence scrambled sentence is sentence
Jason: 01s 1z9 skr d bal en &m S tons
This is a scrambled scrambled scrambled sentence scrambled sentence sentence
. 01s en 9 skrem 1Z ds bol tans
Mario:

This senience a scrambled Is scrambled sentence scrambled sentence
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_01s 1z o skr d bal &m  sentons

" This is a scrambled scrambled scrambled scrambled sentence
Mario: d1s bal oskrem 1z d sentons

" This scrambled a scrambled is scrambled sentence

Jason

018 1z o skrembold sentons

" This is a scrambled sentence

_01s bal o skrem 1z d sentons

" This scrambled a scrambled is scrambled sentence

Jason

Mario

_01s 1z o skrembold sentons
" This is a scrambled sentence
Mario: d1s 1z o skrembold sentons

" This is a scrambled sentence

Jason

LS"’")\ Wi d X\‘ /(/'QA VMJM £ (H{'ﬂx L(“d‘(’
Niaity Lo nas b o QV—(—v/m s
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Jason Gross 21M.065 Assignment 4 — “Sonic Events”  March 12, 2012

I use the following sonic events and symbols:

Symbol | Sound
Silence
Clap your hands
Make a one-syllable sound with your Voice
i (o /[\1 ) 1n

Play a chord, note, or notes on the Piano
Visual separator to help you group and keep time. Ignore completely

| =at

MI\{(H mMe A/an—#—

Guidelines:

e All sonic events should last roughly the same amount of time, so that the L\, lrfy ?,"'
performers remain in correct synchronization. . (
N/u 'l | Ve

e All performers will be performing the same sonic meta-event (of the form
X_XX_XXXy, which is similar to what we learned recently with clapping), ;.( wie.
repeadedly

e You may choose to render each sonic event in this meta-event differently
(so, for example, you can go Low, Middle, High, ,Low, , Low, High), but
subsequent meta-event should (usually) be identical

e The meta-events (X XX_XXX_) will be repeated n times, after which you
will skip some number of beats, and then begin again. The meta-events
should be identical within these groups of n beats, but may change between
them. (So maybe first you do Low, Middle, High, ,Low, , Low, High n
times, and then you do High, Middle, Low, ,High, , High, Low n times.)

e The idea is that you will get out of sync in a particular way, and every
few measures you will get differently out of sync, and eventually you will
get back in sync, if you're good at keeping time.

After you finish the line, go back to the beginning and repeat it.

You will do this about 10 times; I will cut you off at the end.

Note that the first performer has one trailing beat of silence, and

the other performers have two.

Performer 1: P PP PPP,.P PP PPP,.P PP PPP,.P PP PPP,.P PP PPP,.P PP PPP,.
Performer 2: V_VV_VVV,.V_ VV_VVV,.,

Performer 3: C_CC,CCC,.C,CCCCC,.CLCCLCCC .1

To see an example of the first few groups, flip this page over.
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Jason Gross 21M.065 Assignment 4 — “Sonic Events”  March 12, 2012

b

A
1: PUPP PP?PujupgﬂjpuPPuPPPL,PuPPuPPPL,PL,PPUPPPL,PUPPuPPPu

2 VOVVL VWL VLWL VWYLV VIV VVVV VY VY VYV VYV VG VIV VVV
3: Cu.Cq.CCq,.Cac.Cdc, ,CCCLCCC,CLLCCLCCCLCLCC,LCCCLCLCCLCCCL

1 ng(l( U\/‘A( .‘L ‘a((m\'('. I/\ é/’/’l'l’?d/./ PALS Su /l"‘ej
vu/‘l” ""’“((‘ “L {‘ 51 e -/'47 /ew/. M474& 7,1/4/14/70,/4)

w (( (0'“/ 1A +f“4( "F MUCs vt llnr,; )

’L(M ‘]t&ﬁ YW(A 42;(‘\\0/1 /%vsf(«( /\/é‘(tsh./l ‘}//’N)’ b

.

A
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